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INSTRUCTIONS AND INFORMATION

Read the followihg instructions carefully and follow them precisely.

1.

Answer ALL the questions.

A Special ANSWER BOOK is provided in whiéh to answer ALL the
questions. |

. Show workings in order to achieve part-marks.

You may use a non-programmable calculator.

. You may use a dark pencil or blue/black i-n’-k-fco'answer the questions.

Where appropriate , calculations must be done to one decimal point. |
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7. Use the information in the table below as a guide when answering the
question paper .Try NOT to deviate from it.

QUESTION 1 :

57 MARKS ; 45 MINUTE

Topic of the question :

This question integrates:

Financial Statements :
Balance Sheet, Interpretation and
ethics

Financial accounting
v' Balance Sheets and Notes
v" Analysis and Interpretation of financial
information

v’ Ethics

QUESTION 2 : 62 MARKS ; 50 MINUTES

Topic of the question:

This question integrates:

Cash Flow Statements,
Interpretation

Financial accounting
v" Cash Flow Statements
v" Analysis and Interpretation of financial
information ‘
Managing Resources
Interpretation and Report on movement of assets

QUESTION 3 : 31 MARKS ; 25 MINUTES

Topic of the questions :

This question integrates:

[nterpretation and Auditing

Financial accounting
v" Analysis and Interpretation of Financial
information
v Independent AuditReports
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QUESTION 1 : COMPANIES — FINANCIAL STATEMENT AND AUDITING
[57 MARKS; 45 MINUTES]

‘Rani Ltd is a public ‘Company with an authorised share capital of 750 000 ordinary
shares. The information relates to the financial year ended 28 February 2014.

REQUIRED :

1.1 Calculate the interest on loan capitalised. (See lnfor’r_hat"ioh C) [4]

1.2 Complete the following notes to the Balance Sheet:
(Show the workings in brackets.)

1.2.1 Trade and other receivables | - | : ‘ 7]
1.2.2 Ordinaryshare‘cépital “ | PR . 19]
1.2.3 Retained income '  : | | [8]

1.3 Complete the Balance Sheet on 28 February 2014,
(Where notes are not required, show workings in brackets to earn part marks:) [23]

1.4 The internal auditor warned the Chief Executive Officer (CEO) that including his
private entertainment expenditure under sundry expenses Could cause
problems for the business

1 4.1 What GAAP / IFRS prmcnple is the mternal audltor referrlng to when
this concern is expressed? : [2]

1.4.2 Give TWO consequences for the business if the CEO does not take
the advice of the internal auditor. (Give TWO points.) [2]

1.5 Atthe annual general meeting, the directors proposed that R250 000 be spent

in uplifting the sporting facilities at three local schools. Explain why such
projects are considered by big companies. (Give TWO reasons.) [2]

Please turn over
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INFORMATION :

1. Extract of the Pre-Adjustment Trial Balance on 28 February 2014

DEBITS CREDITS
Ordinary share capital 2 100 000
Retained income (1 March 2013) 234 000
lLoan : Sentry Bank 160 000
Fixed assets (carrying value) 2 258 000
Trading Stock 162 220
Debtors Control 63 000
Fixed deposit : Oxford Bank (7,5% pa)’ 125 750
Bank 190 650
SARS : Income tax (provisional payments) 170 000
Creditors control 26 000
Ordinary share dividends (paid : 31 August 2013) 120 000

2. Additional Information

A.

Share capital :
Hirey

400 000 | Shares were in issue on 1 Mey 2013.
(Beginning of the financial year).

100 000 | Additional shares were issued on 31 October 2013 at R5 each.
This has been correctly recorded.

On 31 January 2014, the business bought back 25 000 ordinary shares
from disgruntied shareholders for R118 750. This transaction was not
taken into account. These shareholders do not qualify for final dividends.

The loan statement received from Sentry Bank showed the following :

Opening balance 256 600

Repayment during the year including interest 96 600

Closing balance 193 000

e Provide for the interest on loan.
e R40 000 of the loan will be paid in the next financial year.

Income tax for the year was calculated to be R162 800. This must be
taken into account.

A final dividend of 22 cents per share was declared on 28 February 2014.
This must be taken into account.

Please turnover
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F. The following adjustments must be considered for_thé Balance Sheet

only :

The rent for February 2014 was not yet received. The vacant
storage space was rented out since 1 December 2013. (The rent
income amount in the Trial Balance — R17 300.)

An additional insurance policy on plant and équipmént was taken

‘out on 1 October 2013. The annual premium of R6 720 was paid.

The provision for bad debts was adjusted to 3%»"of» the debtors’
control. s - ' |

Audit fees of R4 500 were still outstanding on 28 Fébruary 2014,

G. The net préfit after tax is R380 000 (Note that po:i-ht F has been taken into
account.) ‘ ' ' :

Please turn over
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QUESTION 2 : CASH FLOW STATEMENT AND RATIOS

[62 MARKS; 50 MINUTES]

You are provided with information relating to Phoenix Limited, a public company

listed on the JSE. The financial year ends on 28 February 2015.

REQUIRED :

2.1

2.2

2.3

2.4

2.5

Prepare the Note to reconcile the net profit before tax with the cash

generated from operations. [11]

Calculate the missing figures indicated by A, B, C, D, E, F, G, H in the Cash
Flow Statement for the year ended 28 February 2015.

(See Information 4.) [23]
Note : Indicate amounts in brackets ( ), wherever applicable on answer

sheet.

Calculate the following financial indicators for the year ended 28 February
2015. Show all calculations to one decimal place.

2.3.1 Acid Test Ratio [4]
2.3.2 Debt/Equity Ratio [3]
2.3.3 Earnings per share [3]
2.3.4 Return on Shareholders’ Equity [5]

Comment on the Liquidity position (working capital) of the company.
Quote and explain THREE financial indicators (with figures) to support

your opinion. (9]

The company wants to expand their operation in the next financial year and
therefore they will need more tangible assets such as land and buildings.
How do you suggest should they finance this? Give TWO options and

explain the reasons for your suggestion. [4]

Please turn over
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1. Extract from the Income Statement for the year ended 28 February 2015

| Depreciation 160 000
Interest Expenses 96 000
Income Tax 336 000
Net Profit After Tax 864 000

| 2. Information extracted from the Balance She-et (,Statement of financial

position) on 28 February 2015

2015 2014
| Tangible Assets : 5415000 | 5140000
Financial Assets : Fixed Deposit ~100 000 | . 400 000
[nventories ‘ - 732000{ 620000
| Trade and other Receivables (See Informatron 3 1) 564 000 518 000
Cash and Cash Equivalents 128 000 | E
Ordinary Share Capital 4 646 000 | 3 678 000
Retained income 798 000 690 000
| Non-Current Liabilities (10% pa) 720000 | 1200000
Trade and other Payables (See Information 3.2) - 775000 736 000
Bank Overdraft | - -| 374000
3. Notes and Additional Information
3.1 Trade and Other Receivables includes :
/ 2015 | 2014
SARS — Income Tax - 22000 | -
3.2 Trade and Other Payables includes : 3
2015 2014
Accrued Expenses — Interest on Loan 7 000 9600
SARS - Income Tax - 11 400
372 000 340 000

Shareholders for dlvrdends

3.3 Tangible Assets

v Old equipment was sold at Book Value during the financial year,

~ R62 000.

v Tangible Assets were purchased during the year.

Please turn over
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v" The company has an authorised share capital of 1 500 000 shares.
v" The Directors issued 130 000 new shares on 1March 2014. The

issue of the new shares was recorded.

v 12 000 shares were bought back by the company on 2 February
2015 at R each. The shares were originally issued at R6 each.

v' The total number of shares in issue on 28 February
775 000.

3.5 Dividends
v Interim Dividends of R348 000 were paid out on 1 S

2014 was

eptember 2014.

v" Final Dividends were declared on 28 February 2015 but not paid.

4. Cash Flow Statement for the year ended 28 February 2014

| Cash effects of operating activities ?
Cash generated from operations ?
Interest paid A
Taxation paid B
Dividends paid (688 000)
Cash effects of investing activities ?
Purchase of tangible assets C
Disposal of tangible assets D
Decrease in fixed deposit 300 000
Cash effects of financing activities ?
Proceeds from the issue of shares E
Funds utilized for share buy-back F
Loans G
Net change in Cash and cash equivalents H
Cash and cash equivalents at beginning of year (374 000)
Cash and cash equivalents at the end of the year 128 000

5. The following financial indicators were calculated for the past two

financial years

28 February 2014 | 28 February 2013

Current ratio 1,8:1 1:1

| Acid-test ratio ? 0.5:1
Stock turnover rate 9,4 times 6,8 times
Debt equity ratio ? 0,2:1
Return on total capital employed 22,1% 18,3%
(ROTCE)
Interest rate on loans 10% 10%
Earnings per share (EPS) ? 102 cents
Dividends per share (DPS) 93 cents 85 cents
Return on average shareholders’ equity ? 15,1%

Please turn over
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QUESTION 3 : INTERPRETATION OF FINANCIAL INDICATORS AND AUDIT REPORTS
, [31 MARKS; 25 MINUTES]

De Villiers Limited and Amla Limited are two relatively new companies quoted on the
JSE. Both deal in sportswear.

A friend of yours, Leah, wants to buy shares in one of them. She has studied their
latest results and presents you with the following financial indicators of the two
~companies.

REQUIRED :

Explain your answer to ’rhefollowing questions. In each case compare and quote |
financial indicators of both oompanles (actual ﬂgures ratios or ‘percentages) to
support your answer.

- 3.1.1 You have decided to purchase 10 000 ordinary shares in Amla Limited on
the JSE at the beginning of the new financial year. If the dividend for share
remain the -same next year, what is the amount of dlwdend you can expect
from the company? _ o - - [3]

3.1.2 Which oompahy has a better d‘h’/idend‘pay-eu{ poliey? vapla‘i{n and quote
figure or financial indicators to support your opinion. [4]

3.1.3 Comment on the % return to shareholders, gearing (debt / equity) and
degree of I"ISK (ROTCE) of each company - - [12]

3.1.4 The shareholders of the two Companies hold different opinions of the

current market value of their shares. Which shareholders are happy with
the market value? Explam ' . [4]
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QUESTION 1

1.1 Interest on loan

J oS / 9,
% 193000 4 Gbbop ~ 434 bop - = 2dcoo

1.2. :

1.2.1 Trade and other receivables R | |
Debtors Control ' e ' ‘ - 63000
Ruovision for by deors (Foe ¥ “"w) ".' . ([ 1599) s
Ner st pesieas. e _élno
Pugpro exvenses (husmpnez > Tk £720) - v »| 3932
hocaums cone (Rewr fiicone > 799 = 8650 e nowmy) ¥ $650
S5~ Yueome The (70 000 = i g00) B 1 quod

B Sl L AR — v el

1.2.2 Ordinary share capital

oo too / ORDINAN] SHARES W) ssuE on 1Haaed a3 (Rivoceo- Sroow) ¥ ) o cco W
op oo onvinsny staes Jsue wunme ME Yoprfgenen 5eo £C0

(25 o) vV RV SIFAIES RE-PUNCHASED AT Avemaae Poke of b0 E ( tos eeo))
75 o () ORDINNY Sitkigs 1 bose oN 2y Fedrusny otk __ ‘

Ay ﬂmw R 2 1s0 ceo /&

1.2.3 Retained inoome,

00 co) ShMEs > R ¥ 0.

7

Opening balance — L ‘ | 234 000

Rer ot arzed Thx \ & e 380 oco

SHARES RE~PURCHASED (2§ o00 A e,;s)'m«.[‘msbaiosfz‘fa:] . ( 13 750)

DRMNARY SHADE DWIDENDS | - | (W se) @
TNTERN Diives : ) (1waw ¥
Fisat  Divisens (‘F,'E aob“&”/?vo)' o

Fieeer /g{wf‘ = /LIECHAS»E ’/ﬁ&cg* ~ Ay %zcg
= llg7sh - : :
e Sifpue e ﬁ Z}, 20 S
Mts - fyoo )
Ko, 55
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1.3 BALANCE SHEET AS AT 28 FEBRUARY 2014
| ASSETS

| |

| NON-CURRENT ASSETS 21381750 (@)
| fue Assers 2% cc0 |/
| e Asiers (Fum bevosir) ws 790 |/
| CURRENT ASSETS 3% coo
L Lniyenton g2 220 |V
Troz s omen_Recennies s Ree 0.2.0) s 530 gy
ChSH auh Chsit momdsenrs (19 pgo — 118750 )¥ 71 900 |@)
| TOTAL ASSETS 2093 T50
[ EQUITY AND LIABILITIES ) T
| SHAREHOLDERS EQUITY 23% 750 ©)
/ mmmj SHARE CADITAL Rey (t.2.2.) 1995 co0 |47
LL Revane Twcon. Rer  G-2.3) 575750 {2
NON-CURRENT LIABILITIES , ‘ 153 oo |
lowi: Sewmy Baug (193400 - ‘ro::éo) 153 wo |/
| CURRENT LIABILITIES ——— 75 oo (@)
L “I/Qk;)f ANp orden IMABies( Rbegp+ #5000k Gop M-aaoa) 175 ceo @
L 2§ -
EOTAL EQUITY AND LIABILITIES 265 750 {% 23

1.4 The internal auditor warned the CEO that including his private entertainment
expenditure under sundry expenses could cause problems for the business.

1.4.1 What GAAP / IFRS principle is the internal auditor referring to when this

concern is expressed?

Business  enmiry 4

(THE oWNER. AMD BUSINESS ARE SEPARATE EWTITES)
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1.4.2 Give TWO consequences for the business if the CEO does not take the
advice of the internal auditor. (Give TWO points.)
hay Twe VAuD AESPONGES 24

Vv e ERTEONAL AUMTOR Woulkd QUAMEY THe Audir Revewr

v e PRofir oF Te BusiNess WU Be UNDERSTATED, SHAREHoUERS WOUL NoT BE AP
v ?’m}esw WOUk WOT Be cowfidest w e Busiess CluTegury] Taaemencd )
J Chmiplury oF Cep,

At the annual general meeting, the directors proposed that R250 000 be spent in
uplifting the sporting facilities at three local school.. ‘

| Explain why such proj ects are considered by big companles

(Give TWO reasons.)

Ay TWD VAUD Restorses . YV

o lomponre om Restewsipity |
e W:‘mm i THE CORMUIN T ENHANCS GeobWIkL-
v CRERTE A Gon/hsirwe THAGE OF TE CoH{IMY. _
v POUGHING BACK To THE COMMUBIE) Fogl WHICH 17T GAilS fptits
v Ty oenenng
v BEE Dowrs B NEVELDPHES

O

57 57
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QUESTION 2

2.1Reconciliation between Net Profit before tax and the cash generated from
operations

| Net Profit before Tax (g4 coo 4 3% cco) | Vi o0 |/

| Adjustments for |

L  beprzeintion I ite oo %/

! Jutesest eppmise | % ao 7/
LOperatlng profit before changes in working capital [ bhsl 000 7

, Net change in working capital ’ (s ew)

!f “N\Jum«o%s mepsrss (132 oo - bhoooo) (U2 ew) 4

[w ﬁmam o0, RECEWMBLES ineREAsy (564600 - 22000) = (5!8@) b (A ow) i

™M e ain ome faisies wease (77500 = Toco = ¥hase) - (T3hesp- %L‘o'-li%} Meo o/ n
@% Geugnxted FroH  cPerxtigns

LN

()
Nme fivieare  Ourriowe w Brackss As per ChsH Fiow Stiyenewr,

|G [tase o - 20000 ( #30 coo) V|

p CALCULATION | AMOUNT |
LA f Yood k%rf," 7 a0 | (e ) &
EREESY ‘i-()f) k10 en (- Zz%cw-uu,w - 2%2oep) 5 | (369%0) ¢
| C  |smo'eoo = 1682w = bLeto ~ 5415 co0 ¥ | (39 e0) &)
D | | e M
LE f ooco K RF ot (M%oou + 72600 ~ %7?5‘00) ) o4o cov vﬁl
|F {2 oot Ry ’HW“"’) id 2. |
|

w 1@7*“‘") + 138 peo 502 000 Jzﬂ 23

) ) 2.3.
2.3.1 Aoid~test/ ratio , ,

(1%3% 00 = 732000 ) @ TI5e00

ESlece o TTH epo |
o8 @D Aupears HETIOD HARL ORI IF OnE PAOT IS CopEcE E
4

2.3.2 Debt/ Equity ratio )
7
T2p cm“/ LG HHY opo
RN | AUOCKTE HETHD) WARL OWLY 1F oNE PART 15 CopReet . 3

st

Please turn over




Page 6 of 9

2.3.3 Earnings per share (EPS)

: /' jop
Qw,avoo + 2 e
50007

1§ IS (7) - hcearr onty iF 100

00 Rayun [ Ry (6 NOT 00 huigcATe HETHoD HIRK oNi| IF ONE PART 19 CORRECT.

2. 3 4 Return on average shareholders’ equlty

§o4 wa/ , " 7
‘/:x(smm?cv thSEpeo) T

((}r) gé!i Cﬁ@ 3 {Dw 7
49666@@ ASN O

17,6 AL LLOCATE HETHoR Hm ONLY If oNE ?fvtu 1y cownget
—

2.4 Comment on the liquidity position of the company. Quote and explam THREE

financial indicators (with figures) to support your oplmon

General Comments : \/'>
VG Kssee coval” THE Cunnait LADIMN ADEQUATELY

Financial lndlcators ) - J/
v (haneur RA—\'w WCRERSED Fagl 1,0t 4 o 1,8 2)
v Aty Test Rato”  INcRERS PR 05t To 0814
/oo Tomweler WAV INCKERD R )¢ Tikes To 9,4 Tines v

v lbad Assers ( epclding Mvedoey ) covel THE Coubisi Lmaw AbeoUkTELY ‘/
-/ Goolx ARE azwwd &T A ﬁxs‘m DATE ~ Less WORKING CAPURL REQUD

25

8P Tron asﬁE‘/

@PTioy ‘mé

ey u‘-w %suE Cv,h ﬁﬁgg - me; HRVE issuUE) om\; 77&; @e::u c;p mg lﬁmcw Aumw,:s‘a Stes.
i

/| Ty C’fvsq “kat.i OUT & koMY - THEZ beiT/ed :
Lo T[ rw i r:?;‘ } Am wﬁse 22,1 wrhe& iy
‘%4%91, il The InTegesy mate oM wAﬂ w‘fp_ o 79 ‘/

6] 62
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QUESTION 3
3.1
3.1.1 Dividend amount you can expect next year.
/ v '

16 00 Smes X Ry > fffmwp . i
3.1.2 Better dividend pay-out policy

De Villiers Ltd : 5‘5‘%%6 z 307,

Amla Lid : L = 957,

Conclusion :

— v

De Viuars L s 4 BeTra foidey BECAUSE THY ARE RETAINKE Famds v e )

EXPAMSION 5 12kd To BeTrel ReTaows Comppenps! (v ﬁﬁu&f-_/ i

B
T

3.1.3 .

% Return on shareholders

€ Vil 18 16,27, v

Mia s 13,49, v

Comment J

E_@j CoHPrutEs ARE erdwing RETUIIS THAT ARE HIGHEL Tyaw ALTERWATWE LN VESTHer *

Gearing (Debt/Equity Ratio)

be Yes b s Hsti v

M I g 0)20 v

Comment S

Be Viadu U 15 wiehy Gadm s, REWNG Teo Hrel 0N Bogsowen_cAPITK - HUCH Hpne

RIGAY Sinuktisd v

Atk by 18 howily Gedigy - NeT REN NG on BoLsowd CAPIRL - Mot RISKY

e

Degree of Risk (ROTCE)

DE Ve 1 13,47, v

Aua b 18 pd,

Comment / J/

i2

Bowt Conprasies Ar Posinery Gernen As HUReE cpcears wrawst apre ow dow 4]

23
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3.1.4 Shareholders happy with market price

3.2.
3.2.1

3.2.2
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Z
, L. v . v

fee Stmcwpioen o AWia b0 Jme #aory winh The HARKET VAMlg of Tho CENTS PELSitm
BecAuss (15 Wl T THe et Asser Vhule of Bo7 cavrs - s

Ts #;@Naﬂes‘ THAT Tite PUBLIC HAS (COMFIDENCE 1M The RUMME OF The copany A Wik PAY
MoLs THAN The Sfkpes ARE AcTuhuy WOPRTH Vv

o

| De Villiers Ltd : v
His  AERN &WeN MUY CQAUFE REfolLr -

Id
s Hems tir THE AUDINRS DID NPT FAND ANY ' HISSTATEHENT dL His REPRESEVTRTISY
N THE ANMICIAL STRTEMRITC PREVARED BY THE DiRECTORS - : /

T 810 M7 ARD AN FLAULD oF Glpss ERLDAS Wita) CONDICTINE THAL AuMT.,

LNt WoULY BE Wiy To By SHRRES; /

Amla Ltd . /
S BEEN GwWalA  Qlaupey REPSLT.

| it doins FEEL TR e frats Assere (e e oVeldALUED > Tis HERNS e/
NeT Ascel VAule ef SHARES IS oVasTATE -

heWt Would Wer pe Wikhife o Buy SHARES /

o

IFRS and Compames Act

IFRS :

Coippuy Fintuciny ‘S’Wwfw.f MUST Compy w 177% IFRC S THRY T /
a i (S A COUNO
Wik ¢ Do THIC ACRDSS Te weein (},, EUHIVATE CakFusisy )f ol

Companies Act :

Cﬁ/yﬁ#y HiS (o copy wilk THEAG onfeewise Twe pppeerpac ULy pe fey
CUiLry of A CRIKIAL CFFLICE

/

N
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